Total No. of Printed Pages—7
2 SEM TDC GEEC (CBCS) 2

2022
( June/July )

ECONOMICS
( Generic Elective )
Paper : GE-2
( Introductory Macroeconomics )

Full Marks : 80
Pass Marks : 32

Time : 3 hours

The figures in the margin indicate full marks
for the questions

1. e facaRa Pot seplR See fon 1x8=8
Answer the following as directed :

(@ CorEm SLARRT AR A3 ‘macro’
O TR IR ?

Name the economist who propounded
the word ‘macro’ for the first time.
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(2)

(b) ‘W WE YR TG @IS TH €
RAPR [/ SEET F6 SES GiReo st Rewr

e Y GRR AR @R SR @R
SERGREE 2

“National income is the part of the
objective income of the community,
including, of course, income derived
from abroad which can be measured
in money.” Who made this statement?

(c) The Purchasing Power of Money S®{=_
ERE (P ?

Who is the author of the book,
The Purchasing Power of Money?

(d) TarHfe TS FYRT W T
During inflation, the general price level

(i) 3% °R/increases
(i) 2 “¥/decreases
(iii) aTIYNA AT /remains constant

(iv) €% «bre w=/None of the above
(w7 Seach! A1 Sirean)

(Choose the correct answer)
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(3)

(e) O TEFRIRT FRT 723 2
Which is not a cause of inflation?
() IS I[ "

Increase in personal expenditure

(&) == @

Black money

(i) S 3

Increase in import

(iv) 33 3
Reduction of tax

(o= TeeHr 1S ferean)

(Choose the correct answer)
(N RS ok = 35 W (E) = o W (C) +
Rfcms @ (1)
Aggregate demand =E =C +1

i) B=&
Correct

(ii} S5
Incorrect

(o Te30o1 A1 Sferean)

(Choose the correct answer)
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(4)

(g9 LM RIR FERER F_A A I

The reason for shifting in the LM curve
is .

(2140 572 o7 )
(Fill in the blank)
(h) e Frre
In liquidity trap
(&) TR 33 ofS % =
interest rates are very high
(i) = 79 =fS fg =
interest rates are very low
(o7 Taachr a1fb Bfers)

(Choose the correct answer)

2. Wﬁﬂmﬁ@mﬁﬁfﬁ@ﬂ%wcﬁmm
(e 150 *”R foewe) . 4x4=16

Write short notes on any four of the following
(within 150 words each) :

(@) feors o w1 Rers g M

Personal  income and Personal
disposable income

(b)  T-wcq o
Value-added method
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(c) AT @RI PR afemm

Credit creation of commercial bank

(d) TarPfe g S Rt eceRE M

Monetary policy as anti-inflationary
measures :

fe) @3 IER R
Say’s law of market

o 2RI Bes fia (2Bt 500 R o) :

Answer the following questions (within 500 words
each) :

3. (@ IVTS W RS AdREER TES N
ogedt | e wREER o RIS
SefREme FAEIFIT IRM I 8+4=12
Distinguish between micro- and macro-
economics. Explain the transition from
microeconomics to macroeconomics.

3T /Or

() RIS SURE AR AR 9| RS
wefRwm Reme fRgerz & &2 7+5=12
Explain the scope of macroeconomics.
What are the limitations of macro-
economic analysis?
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4. (a) m@awﬁfﬁmwww:qéw
TeA (GDP) st T OWE I oS
AT 341 | 5+6=11

Explain the various concepts of
national income. Discuss the income

and expenditure methods of computing
GDP.

YT /Or

(b) wﬁﬁwaw@ﬁswmmw
w1 11

Explain the circular flow of income in
four-sector €conomy.

5. (a)azwwﬁmqmmﬁmamwf@sw
301 11

Explain the cash transaction approach
of quantity theory of money.

%] /Or

(b) TR W VIRAR ©F WA I | 11

Discuss Keynes’ theory of demand for
money.
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(b)

7. (@)

(b)

e &2 FRAERS SIF TS pagaIc

4 FRPIR T F 3+8=11
What is inflation? Explain the main
causes of demand-pull and cost-push
inflation.

WWW! 2+9=11

What is meant by trade cycle? Explain
the various stages of trade cycle.

e s ogee! I F 11
Explain Keynesian theory of
employment.

&1 /Or

IS-LM (M S EGICIILIE R oISl IRM
1 4+4+3=11

Explain the general equilibrium with
the help of 1S-LM curve.
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